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AAO(mmol/min/g ) = AA=+(exd) XV JEx109+(WxV BE+V FE&)=T

=92.4x AA+W
€: AsA TE 265nm AL BERIE G R ECN 5.42x10% L/mol/em; d: FLEAILYE4E (em), lem; V RE: RMNAKR
SARRL (L), 200uL=2x1041L; 105: Imol=1x105umol; Cpr: L&A ARKE (mgmL), 752 54MIE,
BUE AN E BCA ARG EMEIRAE: W FERFE: VA AP RS EERAER (mL),
20uL=0.02 mL; V Ffid: FREGEAR, 1mL;
T: fEfb = BEE (min), 2min.
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AAO(nmol/min /mg prot) = AA+(exd) xV x10%(CprxV ££)+T
=184.8x A A+Cpr
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AAO JEPERALE X 25 CHRF SEREARE 70814 Inmol AsA 2y 1 /MR 54
AAO(mmol/min/g ) = AA+(exd) XV JEx109+(WxV BE+V FE)=T

= 184.8x AA+W
g: AsA fF 265nm AbBERINOY RHCA 5.42x104 Limol/em; d: 96 LR (em), 0.5cm; Vs Bifk
AR (L), 200uL=2x10“#L; 106: Imol=1x10%umol; Cpr: LiEWEARWKE (mg/mL), 7E 5N
S, BUEAARAR BCA EARSEMCRAE:; W FERFE; VI IARNAKRS EERIAR
(mL), 20pL=0.02 mL; V FE&: 3RIUBAR, 1 mL;
T: fARBIE (min), 2min.
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